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QUESTION 1

Which option will cause the echo command NOT to output a trailing newline? 

A. -e 

B. -p 

C. -n 

D. -s 

Correct Answer: C 

 

QUESTION 2

Which commands will archive /home and its content to /mnt/backup? (Choose TWO correct answers.) 

A. cp -ar /home /mnt/backup 

B. mv /home /mnt/backup 

C. sync -r /home /mnt/backup 

D. tar -cf /mnt/backup/archive.tar /home 

E. copy -r /home /mnt/backup 

Correct Answer: AD 

 

QUESTION 3

What is the usual absolute path of the personal directory for the user foo? 

Correct Answer: /home/foo, /home/foo/ 

 

QUESTION 4

What is the output of the following command? 

for token in a b c; do 

echo -n ${token}; 

done 

A. anbncn 

B. abc 
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C. $token$token$token 

D. {a}{b}{c} 

E. a b c 

Correct Answer: B 

 

QUESTION 5

Which statement about users and user groups is correct? 

A. A group can only have one main user. 

B. There can be only one user group on a system. 

C. Users do not have to belong to a user group. 

D. Every user belongs to a least one user group. 

Correct Answer: D 
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